
culator, you should say which
I can only give partial correct for

=  1 : "2 ,5 ,8 ,11 ]  and  B  =

Stat 24,20, Quiz #2, Spririg 2015 Name

Instructionsr show all  wprk. state any formulas used. l f  you use thQ
functiorr you used, and vyhat you entered into i t ,  as well as any outpu
incorrer:t an$wers i f  I  have something to grade.

L Con:i ider the universal set to be {0, 1-, 2, . . . ,L0,L.-t, IZ}. Let l ,
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Consider the fol lowing set of survey results.
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d. What is the probabil i ty of being over 45 giveh that they
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3. How many ways are there to f l ip a coin ten t imesland get 6
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l f  someone has 7 shirts, 4 pairs of pant, three pair$ of shoes,
n r  r f f i f * '  n r n  * h a . ,  a r a ^ + ^ 1  |outfits can they create?
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lf a ceftain blood test can detect a specific type of
pnesent, and correctly detects no cancer 99.99% o
in the population is only 0.0004o/o of the populatio
given that you have received a positive test result?
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